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TNPSC - Group-I Preliminary Exams —2009
General Knowledge

Booklet Series C Register
Number
Time Allowed : 3 Hours [Maximum Marks: 300]

Read the following instructions carefully before you begin to answer the questions.

e

IMPORTANT INSTRUCTIONS

. This Booklet has a cover (this page) which should not be opened till the

invigilator gives signal to open it at the commencement of the examination. As
soon as the signal is received you should tear the right side of the booklet cover
carefully to open the booklet. Then proceed to answer the questions.

This Question Booklet contains 200 questions.

Answer all questions. All questions carry equal marks.

The Test Booklet is printed in four series e.g. A R C or
(see Top left side of this page).

D

The Candidate has to indicate in the space provided in the Answer Sheet the series
of the booklet. For example, if the candidate gety A [series booklet, he/she has
to indicate in the side 2 of the Answer Sheet with BIue or Black Ink Ball point
pen as follows:

] B =] [<] [»

You must write your Register in the space provided on the top right side of this
page. Do not write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the
answers. You must write your Name, Register No. and other particulars on side 1
of the Answer Sheet provided, failing which your Answer Sheet will not be
evaluated.

You will also encode your Register Number, Subject Code etc., with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet.
If you do not encode properly or fail to encode the above information, your
Answer Sheet will not be evaluated.

Each question comprises four responses (A), (B), (C) and (D). You are to select
ONLY ONE correct response and mark in your Answer Sheet. In case you feel
that there are more than one correct response, mark the response which you
consider the best. In any case, choose ONLY ONE response for each question.
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Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

In the Answer Sheet there are four brackets [ A][ B ][ C ] and [ D ] against each
question. To answer the questions you are to mark with Ball point pen ONLY
ONE bracket of your choice for each question. Select one response for each
question in the Question Booklet and mark in the Answer Sheet. If you mark
more than one answer for one question, the answer will be treated as wrong. e.g.
If for any item, (B) is the correct answer, you have to mark as follows:

[A]- [C][D]

You should not remove or tear off any sheet from this Question Booklet. You are
not allowed to take this Question Booklet and the Answer Sheet out of the
Examination Hall during the examination. After the examination is concluded,
you must hand over your Answer Sheet to the Invigilator. You are allowed to take
the Question Booklet with you only after the Examination is over.

The sheet before the last page of the Question Booklet can be used for Rough
Work.

Failure to comply with any of the above instructions will render you liable to such
action or penalty as the Commission may decide at their discretion.

In all matters and in cases of doubt, the English Version is final.

. Do not tick-mark the answer in the Question Booklet.
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TNPSC - Group-I Preliminary Exams — 2009

Gurg) gyley
efleorrggmst euflene| udley
6T6uIT
[9dsaiu’ Herer Grrd : 3 wemnfl | [Quorss wHitusTser : 300]

alleoT 58158 LIdleeflsEpsir Sss6mmL. I)ifelmiTSHmeT SeIeTomsLl Lilp S&eaL.

W&EW gjflelemyser

1. @i e Gesr@ly m Cuaemmay (@hs LssS5ms)s s bhsTars.
Caiia] Qam_ri@h Crredh alamsesT@Lmus S @l &evordTeuuflLLmeri
gmid  aemrully  Cogemmeoius SHnsss swlng. elamsesr@Llmus
Sns@LLgwrer Galems sersmsofliumearfllmhg Gubme s GCLosysmmuilsor
NGINSMS SeueTons Sifi5g1s Simss CalsmHin. Serisr CaeralsEns s
afleoLwefl& s OSTL MhigemLD.

2. @ allemms Gam@Ly 200 elleTmsaememd Glamesr(H6Tsma).

3. steveur el ESEHSG L - el weflSea D, sTeer  eSETTSSERD  SLoLTeT
LSIIGILsTITS6T Gl&TsuoTL6Mm6L.

4. efleoms Gam@ L A R C | Seg | 1 |eTer kTS

auflmasefld gFFLILLDeTomg. (@EBsL USSSSH6T QL gl G epameuuils
2 6T SLLSMSL LMTESD) ellsmsoriugmym  elemssmst  auflmasmw
afleoLgameflen  genbsear  gmungsTar QL SH0  GMSEIS smamiss
Geuemor(plLd. 2 SMysuoTLons 6(h, efletoTssorlILSTIT | A |6TeoTand eSlearms CSTEGLIL
QuONIHHESTEL Yieur Lems SeTaenL il ol SsTeafler @TsorLm L&sSEl
&0y smaisgeTareury ol oG S Hmemioijeni il Lkhg)LpensorL
Guearmellearmed @GMISESIS ST L Geustor(HLd.

Bl =] (<] [

5. o mgEmmLIL LSley eTevorememor @ESL LSESSSET alvg epemeuuile 95mblssor
IoLGIETeT @I Sl Bhser e Gousmr(hin. Goum s ellarms
QETGIS6) 6T Snl TG,

6. el smers GNSSS &ML 6ar, lmLSSTT QAN 2 MSEHSES
seursmenfliLTeryTe) SHeflurss SruuGL. el soreaflar (pHe LSSSSH0
2 Mg EmHmLI Lley eretor, G wpmid Csl(hster elurmissmer Briser 6L
Geusmor(HIL:— SeundlerTred 2 MHig6eTg) ellenL SSHT6T ClFLTSSMESLD.
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7. o mgEhemLIL udle| eTevor, Caie SSTeT sTetoT (LPSESILaIMEmMILLD, aflsnLSsmerflsor
@ITETTLTD USSSEH0 JmesEHSSTS Jemuhgiarear @I nigsflsy Beoln s
smeow HimsowwemL i uhgipsmerl Gussrmellearmed GMSgIs STl Geussor(Hl.
CupaerL afurhisemst elsoLSamafley Fhiser GN&HSIs STLS SHeunlemmsy
2 miG6T ellenLSSmer ClFaTsSTEasLILI(HILD.

8. eeuGeury eflesrmeyn [ A ] [ B ][ C ] wmmid [ D ] eteor mrein@ eflenLsemends
Gameir(heerg). Fruser gjemeudsefled Gr e arflumer aflswLsmws Caiey Cl&iig)
afleoLgamefley @GNSss &STL Gl Qatm&eeE Guoulr &flwmer
aflemL g6 g CaeTallsE @MULSTSES &[mSlarTe BrhigsT Lles ifliumers) eTerm)
TS  SMESNTSCmm g efoLamu  afomLgsrafld  GNsEs &L
Geuemor(pd.  sTULIgWMUfemID @ CoetallsE 6T 6@  elLmwugsmsr
Camoshss Goaummhin. o mgsEmmLW  Orss wHliGusresT  HhigsT
afleoLsamefley GMI&EIS sm (b &flwumer ellsnLseaflssr  eTeoreflsemaemiLiL
QUTMISS S

9. ellem_gsmeafled speriGleum(y, Gassiral sremorsmafln@td ereifled [ A ] [ B ] [ C ] mmid
[ D ] eteor mmen@ eflenL&aL L khiseT 2 sTerer. s(h CasrailseE el weflss
Pruser sfCluers smeid elmLmu @Gr @ almL&sL LS50 O Ubhg
(pemeotLl Guesrmeilearmed GMISSIS S Cousm(bin. speubleumy Caerals@n 6
afleoLemws Coimbbshss afomrssmafle @Nss GCosmmhin. @@ Cosmailss
RTMISE Guoul'L afoLwellssTed nhg el SuNTaTETsS &[HSLIL(HLD.
2 grewrons Hhugst [ B ] erettueng gflumer eflemLwunss smdlerm ojemg
Wletreu(mLomml GMS5EIS S L Geustor(plLb.

(A1Jjtc! (D]

10. Fruser efleorms QEm@Liler shsl LESSMSILD HEHs0T 9jmg) Sl
&g Lrgl. « Goiey CrrsdHe @ng elaoms Cer@lamearCur  gsng
aflenLgsmamerGLT Caiels snLsma il (h Ceuafluils sT(HSgIE ClEns gL mg.
Caitey (plphsLIer Bhiser 2 hisEhmL ol SSTmers seursmsuofllLmar L
Qsrhsg ol Geusr(hin. @euailerms OQar@liilmers Csia (b 6o
BRI © Mg EmL 6T 6T(hSgIE Glasuee.

11. @llysst sTpdll umiiugneE elams GsmEllsr soLdl usEsSHDE
(PETLSESSMS 2 LCITH G818 GsmsTaTauTLD.

12. Gumse. eldlsafley samgumag  larmsy GCsiaumemsmmuid  (Lpip Cleihi& @G L
L6l S608:8(EH5E 2_6mammd Crfl(Hd eTer 9o mISSILGSEMS.

13. gyiidle aigafled QEThSSILLHETaT GUILILGST ST6T (LplgUTETST(SLD.

14. elleorg Gam@Liled ellenLsmw @G Cour, @MUNI. (& ST L Gour & Lmg|.
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Bifley &EmITHS STTLET 6oL 9} S6mer(H
A) gifiienu 9FlalubSgIENg)
C) gfiienu sHi&Sma)

The Carbon dioxide dissolved in
water

A) enhances corrosion

C) prevents corrosion

6MIHEVITGIT 69(Th
A) umedlGusroL i
C) umedl gemLo(®

Nylon is a
A) polyster
C) polyamide

(T STTL. 6WETLD 6T6ITLIS)
A )100 1.
C) 300 (A.&)

One carat of diamond is
A) 100 mg
C) 300 mg

B) gjfllemu GHemm&Sng)
D) gyflienu stgied Gainiglsemen

B) suppresses corrosion
D) has no influence on corrosion

B) umedlerehledleor
D) umeSlam & &enr(h

B) polyethylene
D) polysaccharide

B) 200 1A.&)
D) 400 166

B) 200 mg
D) 400 mg

@rssi wnmid Anibifle srssamrmu Cardss LeTLI(haIg)

A) Quesfligl” semrasn
C) emamiGUT Semyse

Sugar in blood and urine is tested with

A) Benedict’s solution
C) Hypo solution

I9.6. g etorL 6o GECLLETU(HI6S)
A) gjyidlesflwin
C) 1p607

TV antenna elements are made up of
A) aluminum
C) tin

2 aUiThG Letll&aL le eTeTLIG)
A) &lreu emmL_Tegedr

www.sstaweb.blogspot.com

B) Wemiyesr semiyaed
D) (0w 65T SHemireen

Brine solution
D) Iodine solution

B) gmiilrid
D) gi$gBmaLn

B) copper
D) zinc
B) &&ah Qainuiu’ L ueflssel iy
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10.

C) l6trin &TiiLIstT 6oL 2 Seman(h D) 98ls Gefli uell&aL g

Dry ice is
A) liquid nitrogen B) purified ice
C) solid carbon dioxide D) supercooled ice

sriflGummeflssr &Gsumfl LY euflens
A) Bevsaifl > 19° > uyiy fessfl B) G- > uwly Hessfl > Hossfl >

> 2 _6UIThS LOLD 9 6UITThG LOLD
O) vy Revssfl > 5° > flwssfl D) flossfl > iy Hossfl > - >
> 2 _6UITh& LOLD 2 VIS LOLD

The calorific value of the fuel is of the order

A) coal > peat > lignite > dried B) peat > lignite > coal > dried wood
wood

C) lignite > peat > coal > dried D) coal > lignite > peat > dried wood
wood

L& a6t aummeT srflire CQUITESSLUILL (D6TeTs) 67—

A) seoowe GamLm — Gamgeuwnd smu B) amsvgs  (eifl) T Gammr - &meufliid
SmuGesr_ S Geur.

C) Gammemeun - Gamgund D)  sevemern GamLm -  smeodlwid
smruGer._ ML TTSemen(h)

Which one of the following is correctly matched?

A) Baking Soda -== Sodium B) Caustic soda -- Calcium carbonate
bicarbonate

C) Sodalime -- Sodium carbonate D) Washing soda -- Calcium hydroxide

Ulstreu(meusaTeummisT sflwms QU pSSLILL L 66T 678 ?

A) gevariis  guleod - B) @leoraiedler — Gemmmibs s
smeUL-L LHl6dT

C) Glugtréledlstr — g 6tTig HLITL Lo & D) Ur&mi&sit — Lmedl&m&&6ni (h&si

Which one of the following is correctly matched?
A) Ascorbic acid -- Vitamin B) Insulin -- Antiseptic
C) Penicillin -- Antipyretic D) Proteins -- Polysaccharide

SLSSETL TS SHILBISN6TS S6v6ufl:

2 il (A): sL6v Bifley gmm Beor efl giflsoms @\mioy iy & @i

amresorid (R): 2 Uy Bif 6T SLS550I6E 2 S0 iHms).

&6 @I Hsiem @muiiipev sflwmser ellenLsmws Caiimh 6% H:

A) (A) wpmid (R) sflwmerenen (A) B) (A) wpmid (R) sflwmerensy (A) &@& (R)
&@ aiflwumer afers a0 (R) giflwmesr a96r&aL06060
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O) (A) sifl gyeormed (R) Seum) D) (A) saumi gy eerme (R) &ifl

Consider the following statements:

Assertion (A): Rusting of iron is quicker in sea water than in river water

Reason (R): Salinity helps in carrying current.

Now select your answer according to the coding scheme given below:

A) Both (A) and (R) are true and (R) B) Both (A) and (R) are true but (R) is not

is the correct explanation of (A) the correct explanation of (A)
C) (A) is true, but (R) is false D) (A) is false, but (R) is true
umed QeueflGHMLILIheUSNE) 6THS QMITTELTET SMT6esTid ?

A) 986016 &l B) 4Grmeumsig 6ot

C) emamaerdlear D) QLG merveGiymssr

Which hormone is responsible for ejection of milk?
A) Oxytocin B) Prolactin
C) Thyroxine D) Testosterone

SetorLMAl(m&Lh SLPSS6uoTL SFTeuuTTallSSle) eeaTiley Lol (Hb SmsverLIL(HSmS)

A) Quiflwrri B) &l (&

C) ardlymigm D) slibasmilL
Rhinoceros is unique to.which of the following sanctuaries?
A) Periyar B) Gir forest

C) Kaziranga D) Jim Corbett

weeflgisefled. &CrmerGambsaflsr srememilemes 45 9 66 el GuTg)
(22AA + XO) @ihs Grmi (FlerGymid) synu&lsTms;)

A) Lieorero Sleorl_Grmid B) @ emearerv Seor”Giymid

C) Slememeor GlusLrisrv FlearlGiymid D) et_6urii_siv et Grmid

In human 45 numbers of chromosomes (22AA + XO) is resulted in

A) Turner’s syndrome B) Down syndrome

C) Klinefelter’s syndrome D) Edward’s syndrome

S& ST N6 6THhS GCrHTl g TeurUsny Grml sTer jemUssLLbhiElsarms)

A) @IT5s Camems B) 60l &&Lhwim

C) anfGLom NeShwim D) fimé@mG
Which of the following is called as royal disease?

A) Anemia B) Leukemia

C) Haemophilia D) Colour blindness

LS SETL UMMI6T 6THS 696010 G SHIILS S6aTemin eUMLLIESSHl606m60 ?
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A) GumedlGwir Grmi sHLY eurddlsar - B) Llled)

C) gy sorigpmiilen D) yGrrmeleneivig Grmear
Which one of the following is not a Vaccine?

A) Polio Vaccine B) BCG

C) Anti-rabies D) Progesterone

el LOTHMLD WITTT6V SevorL L’ L g ?

A) LTI &60T B) amé&sed]

C) GlwostorL_60 D) anfGam Gs alliflsiv
Mutation was discovered by

A) Morgan B) Huxley

C) Mendel D) Hugo de Vries
@IT&sL SeulLTss CaHTeTmIeISNE SITeuuTL

A) yjevLhlear B) enfGLom@Germilear
C) smeul_ L Llear Be D) rfleumréserdlear

The red colour of the blood is due to
A) albumin B) haemoglobin
C) vitamin Be D) relaxin

U igwied T en Liiguied I 2 1 6t QU S0 Garhissiu Rerer @Gmluibhsemers
Qameor(h arflwumer ellenLsniug Cain6ls 0.

UL g ied T UL tpuisd 1T
a) euemi&dl ammiGLomedT 1) umssr&ifhwimsno
b) emn&Tm&endlesT 2) @lLsvig o0
c) [@)er&edl6dT 3) N igupt rf)
d) GLeGLmervLeGrmeor 4) enarmil(p
Gnluiser:
a b c d

A 3 4 1 2

B) 4 3 2 1

C 1 2 3 4

D) 2 1 4 3

Match List-I with List II correctly and select your answer using the codes given
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19.

below:

List-I List-II
a) Growth hormone 1. Pancreas
b) Thyroxine 2. Testis
¢) Insulin 3. Pituitary
d) Testosterone 4. Thyroid
Codes:
a b c d
A 3 4 1 2
B) 4 3 2 1
O 1 2 3 4
D) 2 1 4 3

L 1gwied T en Liigwied I 2 16t QumpsE), &6 Qarhiss e GO SemeTss
Qameor(h aflumer ellenLeniug Coii .
UL tgiied T
a) sLoeufl Ou' L @Ir&sin
b) &lemiy sooreumi| Gafley Lo L @Ir&gin
c) Hienmuiyed Lo suITL] @06VTS BT SBL

d) mienruliyed 4) 9i55S QISSLD

B)
®)
D) 1 2 3 4

Match List-I with List II correctly and select your answer using the codes given
below:

List-I List-1T
a) Artery 1. Pure blood
b) Vein 2. Oxygenated blood
¢) Pulmonary artery 3. Deoxygenated blood

Dream Dare Win
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d) Pulmonary vein 4. Impure blood

Codes:

a b c d
A 2 3 4 1
B) 3 4 1 2
C) 4 1 2 3
D) 1 2 3 4

SESETL UTSSILRISMETS Se6ofl:

2 miF (A): wlafluresEs srrsromer L (el weafls QISss5ms
2 emTOUTSS OSTsTEng)

smeod (R): @l (@emafllsarms @\mluemer  Ser  S5iTemr. L06woTL 6056m8
@ungelihaugm gjemel QST allehiens S6T 266 8@ STihSI6TaTg).

&0y @UNI.Herer @uluiigev erfliumer allenLsmiisg Csiimh6ls 0!

A) (A) wpmd (R) @rsworpn &f, B)(A) wmmid (R) @reir(hid Seummessne
Gogyid (R) stestugy (A)elim@ gifliwimeor

el &L

O) (A) sl gyeormed (R) saum) D) (A) soum) gpeormev (R) &ifl

Consider the following statements:

Assertion (A): Malarial parasite feeds on the blood of man.

Reason (R): One of the parasite adaptations is loss of digestive system and hence
depends on host for food.

Now select your answer according to the coding scheme given below:

A) Both (A) and (R) are true and (R) B) Both (A) and (R) are false

is the correct explanation of (A)

C) (A) s true, but (R) is false D) (A) is false, but (R) is true

SPS&eemT_eumIieT 618 @Irstor_meug) Gamflorert oy emevonug st  Lifihbgieniy
(2002) @sosmen ?

A) Ggmfleomsmt sLL&me B) yemm smrg fnsaueamisafl @Gyhams
aUEMBLILI(H S 1860 Qg mfleomsmiasemer HiLLHS 60

C) Gaflu gereill @GmnEs ULE D) @launmier sgibhsemeu

2ardliugeng GILfbise

Which one of the following is not one of the recommendations of the Second
Labour Commission (2002)?

A) A broad grouping of labour B) Permitting child labour in the
legislation unorganised sector

Dream Dare Win
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24,

25.

26.

C) Notifying a national floor level of D) None of these
minimum wage

@ndwraflsr Geusfizm (D& &L evfler &L (2001-6v 2_srer elleuLiLig)

A) $ 98.4 9s0eSluicT B) $ 151.8 fevsSlwsir

C) $ 61 196060wisaT D) $ 98.87 19l6060liwi6oT
To-day India’s external debt is (2001 figures)

A) $ 98.4 billion B) $ 151.8 billion

C) $ 61 billion D) $ 98.87 billion
aumisnLemiL Qemafll. L S@GL) 6ThS IjeTemeal LLsTLHISSIEnS ?
A) 2400 &).5Gsumfls6r B) 1800 &).&Geumfla6m

C) 2500 &.&Geumifl&em D) 2600 &).aGeumiflger

On which of the following bases has the Planning Commission defined poverty in
India?

A) 2400 k.cals B) 1800 k.cals
C) 2500 k.cals D) 2600 k.cals
@nSwreaflsr &&TEETamS sTeualaTa] ? (2001-1b &S Cl&TamS &610T5 @) ILIg)
A)102.7 Gssmig B) 104.3 Gasrmig
C) 101.2 Gamg D) 108.1 Gamg

What was the population of India as per the 2001 Census?

A) 102.7 crores B) 104.3 crores

C) 101.2 crores D) 108.1 crores

2 UESHT  FHMILIMEFCTHPD  BI6T  ooereee et eeuGleumay  au(HL (LD
@& mevorm_LiL(hmal.

A) 18, G B) 5, sffer

C) 24, gy5GLmuIT D) 25, g &t

World Environmental Day is celebrated on ............. every year
A) 18" May B) 5" June

@) 24" October D) 25" December
Gours Femulled 2_emem Glorgs 2 miwdlesiaefleor 6Tevoremnfl&Hema
A) 500 B) 520

C) 620 D) 543

The total number of Lok Sabha seats is
A) 500 B) 520
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30.

C) 620 D) 543

@hdw Cadlu smmradlsr hs s-L LSS b6 WTSID 6T6m LITL6D (LpS6oT
(PSOTS LML LU L g ?

A) 1892 B) 1896

C) 1904 D) 1886

Vande Mataram was first sung at the session of the Indian National Congress in
A) 1892 B) 1896

C) 1904 D) 1886

eaTau(meusTeuMMlEy 678 2 6THTL(H JLMMIS SiEdMLPSLD ?

A) Qarsssm B) (pibemui

C) Qaetrement D) 8r&816le

Which of the following is an inland river port?

A) Kolkata B)Mumbai

C) Chennai D) Tuticorin
Hlstreu(meusaTaumenm @mmhis) auflemauiled euflemsiLbhSs):

A) Coubit, Slpmt, Geusrflt B) GCaubsgit, Cousflii, Hliprm

C) Geuerfli, GCourb g, &lpm D) &, Gevarfli, Gourb st
The correct descending order of the three categories of the chiefs was
A) Vendar, Kilar, Velir B) Vendar, Velir, Kilar

C) Velir, Vendar, Kilar D) Kilar, Velir, Vendar

U tgwied I ey Ligwisd IT o L er QLTSS Spairmd S @& aiuis:sns @it
g fiflursemer Gurmsd), &6 GesrhssiuHerer @mluibsmear Glamstor(h
giflmeor ellenLenig Qi 6l& M.

UL lgiwied T (mITe086im) U tgwied IT (g flélwiresen)
a) e IdlsmLd 1) S\(meusiTEmeurt
b) weuef1GLosemev 2) @emRIGsT 9o SH6iT
¢) &lm&@msi 3) syt
d) gi&aseflwu 4) E&56m60 STES 6T
Gmuibser:
a b c d
A) 2 4 1 3
B) 4 2 3 1
C 2 3 1 4
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33.

D) 1 2 3 4

Match the Tamil books in List-I with their authors in List-II correctly and select
your answer using the codes given below:

List-I (Books) List-II (Authors)
a) Silappadikaram 1. Thiruvalluvar
b) Manimekalai 2. llango Adigal
¢) Tirukkural 3. Agastiyar
d) Akkaliyam 4. Sittalai Sattanar
Codes:
a b c d
A) 2 4 1 3
B) 4 2 3 1
C 2 3 1 4
D) 1 2 3 4

Spemald hg asHsl  Curmst usmaLl  SUlpsSSH0lmHE b
@IL_rhisEh&E eTomIng Qe L g ?

A) LT B) s

C) UL e1emSS6iT D) mmiiger

Which of the following materials was a famous commercial product in ancient
Tamil Nadu exported to other places?

A) Fish B) Pearl

C) Pulses D) Dogs

RSSIOUILTON  @UISsSD OsTarh absturg Sl srmdran sl dullsr
&6Mm6VEUIT

A) ymsgred) B) Ylr&meid

C) Ga.al. Gl ig D) Quiflwirr fr.Geuiir.

Name the President of Tamil Nadu Congress at the time of Non-cooperation
movement was

A) Rajaji B) Prakasam

C) K.V. Reddy D) Periyar E.V.R

smL&l Gurgis Csiigels (2004) S.(.8. Geum Gunm @)L _miseT
A) 12 @l_mis6T B) 16 @\L_migsi

C) 14 @lL_mgeir D) 10 @)_rais6r
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35

36.

37.

38.

In the last General Elections of 2004 the DMK won

A) 12 seats B) 16 seats

C) 14 seats D) 10 seats
SLilp&GSleT Hemomer gum)

A) &rGeurfl B) GuetsTemevoTiLimm)
C) smblruyeosf] D) smé6uemnas

The longest river of Tamil Nadu is

A) Kaveri B) Pennayar

C) Tamirabarani D) Vaigai

gfugdley sueri&d Quimm (Hyundai) enfssormil smi Qarfiheramn gjemwomns

Lomeu L LD,

A) &mEpdILmLd B) &\meueesmit

C) sLgm D) &emit

Recently developed Hyundai Car Industry is located in the district of
A) Kancheepuram B) Tiruvallur

C) Cuddalore D) Karur

“s&glIniehTeaflser g diurarisemms CoustrbId & Mlweurt wr ?
A) soauemievmed G, B) femm_GLr

C) gyfleroLm g 60 D) @iy s

“The Philosophers must be the Kings”, Who said this?

A) Jawaharlal Nehru B) Plato

C) Aristotle D) Indira Gandhi
‘@nSureilsr Gaafliymels Csmaremns’ eaTai Hredler gy Sl wir ?
A) 9.6 &8mmen B) 1.99. Ggeig(pss

C) 6160.65. 9|56.menf] D) 61.Gen. LmuSleari

Who is the author of the book “A Foreign Policy of India”?

A) LK. Gujral B) B.G. Deshmukh

C) L.K. Advani D) A.J. Toynbee

1924—60 smEUSSL FSHTSTSHLD THNSHTS HenL GLDMEI—

A) smpssLLLL  @ESISSERSE B) Uusseflar sreTLaISE eSlTmeT

ILeownigemeT SmbgelhHasnE Gurt

C) usdfsms s_(iur s £&s D) Smellgmhign i Lomhlev&elev
Biaurssms aeapmusiLbSS
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40.

4

42

43.

The Vaikkom Satyagraha was launched in 1924 for

A) opening the temples to the low B) fighting against the exploitation by the

caste Hindus landlords

C) removal of press restrictions D) democratisation of the administration of
Travancore State

w& Gurser somascath &0y CerO&sILL(H6Tar 6he HT(hsEnSSmGiL
2 6TomE ?

A) @& mmid urelerugmear B) @k&Ium nmitd LrkigsemrGges
C) @& nmin Seorm D) @bl ommid LolwimedTLor
McMohan line lies between which of the following countries

A) India and Pakistan B) India and Bangladesh

C) India and China D) India and Myanmar
UlstTeumeusareummled @nglsvasmenf] @enaufe) 9Hle STéssmS JNLBHSGSHILG ?
A) 9|Gmiw-uny&s @lens B) uny&s [@leng

C) us&hu &l aIPSELD D) @lemeu o|smesTSgin

Which of the following largely influenced the Hindustani music?

A) Arab-Persian music B) Persian music

C) Central Asian tradition D) All of these

@ngumeley @umemswmer  @riur B  LIHuSHN  YHSD 2 NUSGE
CaiiuG&ma) ?

A) sUlpET(H B) &iBML_&LD

C) gupdlr KifGsein D) Gayerm

Which State produces the bulk of natural rubber in India?
A) Tamil Nadu B) Karnataka

C) Andhra Pradesh D) Kerala
@nSlwureisr Glorgs LrLiuere| ?

A) 3100810 &. l.Lf. B) 37 eul_&1b &. &.LE.
C) 32 eu_&ib &. .. D) 35 sul_gid &. &l.if.

The total area of India is about
A) 31 lakh sq.km. B) 37 lakh sq.km
C) 32 lakh sq.km. D) 35 lakh sq.km

SESETL UTSSILRISMETS Se6ofl:

2 mi&l (A): yusEHu Crems LNITCsEs5HM LM sThsefled Le allgLomer LrmhigsT
Lnm Gl &6 2_6uor(H.

smyeveri (R): Lsslu Crens NITCss5S0 sL&sTmaT GaliLpn wemud oy stor(h
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45

46.

47.

(PPEUGID SmeoeTLILI(HILD.

&0y @LNI.Herer @uluiigev srflumer ellenLsmniug Csimh0ls 0!

A) (A) wpmd (R) @reorn &fl, B) (A) womid (R) @rssor(pid &), Gogyid (R)
Gogyid (R) eteatuigy (A)elim@ aiflwmenr  eteorLg) (A) i@ sflwmesr alleméaLo6060
o6& LD

O) (A) sl gyeormed (R) eum) D) (A) saum) gpeormed (R) &ifl

Consider the following statements:

Assertion (A): The equatorial region has dense evergreen forests having a variety
of trees and other plants

Reason (R): The equatorial region has uniformly hot wet conditions throughout the
year

Now select your answer according to the coding scheme given below:

A) Both (A) and (R) are true and (R) B) Both.(A) and (R) are true but (R) is not

is the correct explanation of (A) the correct explanation of (A)
C) (A) is true, but (R) is false D)(A) is false, but (R) is true
UlstTeu(meusaTeummled GaHmeTaTMN) 6TEm6U ?

A) Guoev sTm) B) &L6 sTHM)

C) umedT STHm] D) lsrolgyen

Which of the following is a planetary wind?

A) The westerlies B) Sea breeze

C) Fohn D) Mistral

2 a5 WEST CGTamsUlls eysTmrealg JHs Clane) 2 erer BT ?
A) il 9|GoflsaT B) wGregwi

C) Qgetr 9|GLfl&asT D) gyniifléem

Where does the third largest concentration of population lie?

A) North America B) Eurasia

C) South America D) Africa

ydlenrs oemussiul(hstsm Gaghu Lo ellagmyemenr (National Investigation
Agency) gjemoliiler soLr&LIT Gleneorirev)

A) epllL.6T600. L 61me0 B) g eNGerms mmed

C) K. gy el D) @eummie 678 Lhls0emev

Director General of newly established National Investigation Agency (NIA) is
A) Y.S. Dadwal B) Radha Vinod Raju

C) P.R. Raju D) None of them

SMHMTEMEVE EHEE) Gl CLmmE) ?
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51.

52.

A) oubgeo B) Sl

C) mmeoT&Grmifl D) @eummer 67giLilevemev
Place known for windmills is

A) Muppandal B) Tirupur

C) Nanguneri D) None of these
SmULLT 6158 LmiletT SeoTuilsy gemLohgisTarg) ?

A) usumesfl B) Qmmiinwe

C) Gurflwmm D) umeomm
Tirupur is located on the banks of river

A) Bhavani B) Noyyal

C) Periyar D) Palar

SLADHT 1960 FTEHSEDT Q60 SMeveriL(HID @ Ld

A) emeGle B) &l Cm60Gered)
C) semi D) sLamt

In Tamil Nadu sugar mill is located at

A) Lalgudi B) Tirunelveli

C) Karur D) Cuddalore

2001-gyid  guemoT()  WESET CBMmE SETSCSGH\SEET  Lg, SLALHTL g6
SMSSLILLL &&6flsr wésssT Csmms sT&smer aflssT®H ?

A)20 % B)19 %

C) 26 % D)10 %

As per census report 2001, percentage of scheduled caste people of population in
Tamil Nadu is

A) 20% B) 19%

C) 26% D) 10%

FYSSIT GLSIT, CLgauriosT 66rm i YWsBT (D Hyremr sSwurais @ smed
LD s L geiodl&s, GLoseuroe sThETL(h yTeer ?

A) Grumemd B) @evriens

C) L medr D) urélenvgmer

Samudragupta permitted a foreign king Meghavarman to build a monastery at
Gaya. Meghavarman belogns to

A) Nepal B) Sri Lanka

C) Bhutan D) Pakistan

SLNE&SHETOTL S MMIGHEDET 118
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1) ueeeuisaflar  sSabla (hseafld  GSHurarsne  Foavdl(msSHlk

2 _6iTEIeaT.
2) ysomd wesKhETaITET WSSelMTs LT&ESaTD 6T6TN HENSSSmel
Q& yemer QSTEGSSI.
3) LVEBITSHET SHMEVSSHI) LAITETSHOIME 6TeoTm  SeorLiLiLienfl &mErdlsE
aUmemas Lfih .
4) SHumns ererueui  gjeTemeuufiued Hlevori wmmd Hwumuuresiuglear
LSt gy
Beupiie
A) 1wl (Huw srflumerg) B) 1 opmid 2 sflwimressmey
C) 1, 2 mmid 3 sflwmserene D) giemerrsgiln Fflimeoreney

Consider the following statements:

L Most of the inscriptions of the Pallavas were in Sanskrit.

IL Mahendravarman-I composed a burlesque called Mattavilasa Prahasana

I1I. The Chinese traveller Hiuen Tsang visited Kanchi during the period of
Pallavas

IV.  Dingnaga was the logician and the author of Nyaya Bhasya
Of the Statements”
A) I alone is correct B) I and II are correct
C) L II and III are correct D) all are correct

SP&sTanid g Surarigefled 6hs @b L Surerigst Br( (PeISHSD 6T
rdiflwmer fisurssama QummlmEseri ?

A) GG gy 6N &6iT B) &eomu gy SumerTis e

C) gymiHlGaui- g1 Shumeniseir D) Con@mIic L DT HE)
I FILIT6ITTT 85 (6ThLD

Which one of the following rulers had a uniform administration all over the

country?

A) Gupta rulers B) Mughal rulers

C) British rulers D) Allof these rulers

L ipwied I en Ltiguied IT o et Qurmsd), &6 Qarhissiul hsrer @nuibgsmear
Qamesr(h aflwurer ellenLsmiug Caib6s 0.

UL tgwie0 T UL tpuisd 1T

a) 060G &6 STL LA 1) @ovsdlusdnsmsr CHEL &amevden L L

b) FRISES HTL& YSTLLA 2) weflly 2 wiliflwed Lommid  uesoTLIT ()
uflesormn  euerigSlemin  GeusflG s (Hid
Cadlu flmiaeoid.

c) sT&HSIW S LA 3) 516107 86160 8> (6TH & & T6TT Cadw
BHEMEVEEn_L_LD

d) nmes’flw  wmeren  smiyT  4) @eng, HL6UTD LMHMID BT leiSSHETeT

QMITEOLLIT CalL Semeudan L LD
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@mMuibser:

a b c d

A) 3 4 2 1

B) 4 3 2 1

c 1 3 4 2

D) 3 4 1 2

Match List-I with List-II correctly and select you s given
below:

List-1

a) Lalit Kala Academy
b) Sangeet Natak Academy to highlight

and cultural

c) Sahitya Academy ational Academy of fine Arts
d) Rashtriya al Academy of Music Dance
Sangrahalaya

Codes:
a
A) 3 4
B) 4 3
3 2
2

Gemprisermsy s LU L Gamulsuseflsr fmliumer gjoein
A) el 61T B) L& 8 E1h& ST LOGTOTL LIIS6IT
C) QuifwereSleomesr &Tevora 6T D) Gamyymiseir

The chief features of the temples constructed by the Cholas were their
A) Vimanas B) Assembly halls for the devotees
C) Massive pillars D) Gopuras

sl YemLHS (PSS @lens HITLSLD
A) oflEF&HSITT HILSLD B) miger afl&alrn
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59.

60.

61

C) 5@HS60 HTL&LD D) gmefls&ifl mm_sib

The first verse drama (opera) in Tamil is

A) Harichandra Natakam B) Nandan Charitram

C) Shakuntala Natakam D) Savitri Natakam
STEHEITSSHD 2_6TaT MSHUTEHTSHT Y OWSMS SLIgILeuT

A) @\rewoTLmD mhSleuLoesT B) (psevmd wGsh&lyauriosr
C) @\retorL_imLd miy&liLoerLoear D) s6utrly. aUITLO6IT

The Kailasanath temple at Kanchipuram was built by
A) Nandivarman II B) Mahendravarman I
C) Narasimhavarman II D) Dandivarman

b gl s06leuaf] E&ES6T aiH&6T SLL sTeng 2 LGWTSILIHS ST g6 ?

A) &6 B) Lomib

C) Q&6 D) @lemeu o|smenrss o

The Indus Valley people built their house using

A) stone B) wood

C) bricks D) all of these

LSDLPIL SMETe L&S6flar (pSaius Glsmflsn

A) Geu6TITEo0TEmLD B) &T60menL auaTILIL|

C) LT L9lg &&60 D) GealeLwr&e oM 2 euore
Cabias

The main occupation of the Paleolithic people was

A) agriculture B) animal husbandry

C) fishing D) hunting and gathering food.

all&eme &606il& @) smyerLoment GlLflwerraer

A) 19.6s. smiell OmId ueTes B) ein.gdl. preTEL LMMID QY. LBSTTST
TLOLITLL

C) mreveurt b7 ellGwrerst wpmin D) dlerd. weumfl womid Gs.  whsra
Caao ahdly Olgem BTiL(b.

Two greatest pioneers in the course of widows education were

A) D.K. Karve and Pandit Ramabal = B) M.G. Ranade and R.G. Bhandarkar

C) Ishwarchadra Vidyasagar and D) B.M. Malabari and K. Sridharalu Naidu
Keshav Chandra Sen

gl 9emiNed STEITLILEID  eoveeereee O OIMETSHS Fepss ST(HSSHeTSHS6T
PSELTS TEHITSSTI 6T
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63

64.

65.

66.

A) GuIT6ToTT(Lp6mM B) g8 (peom
C) o, SITkigsT (Lpsmm D) &etorL_memio

The aspect of the caste system which was particularly condemned by all social
reformers was

A) Varna system B) Jati system

C) Ashram system D) Untouchability

@rd grfueemol] s L &Ho 2 6ter 51 A TS50 IjpliLlenl SLMLOG6T
Carggs QamereriulLg) ?

A) M aug) girflwevsnolly HpSs  B) 42 aug) grélucenioliL] &\([HSaL

C) 43 sug) grfweenli] SimSsn D) 44 eug) grdlusenioli Sl(mSsL

The fundamental duties are incorporated in Article 51 A of the Constitution of

India by the
A) 41 Amendment Act B) 42™ Amendment Act
O) 43" Amendment Act D) 44" Amendment Act

&6y Gar@ssiu’ (herarameaisafle 6Ths 66Tl HT&ITSLTT FUSTILSSET LGS
36060 ?

A) 9|T& ST YenLoLIL&6T B) gmd) &b o|emLoliL|s 6T

C) gL L L6iTmid D) @(®\LouLd

Which one of the following is not considered as part of the civil society?
A) Non-Governmental organisations B) Caste-based associations

C) Legislature D) Family

@& 2 &&hSneTmid 6The &L LSSl6r S 2 (HeursslulL g ?
A) QUL (pamm FLLLD, 1773 B) I @séw &1L 1o, 1784
C)-erger &L Lib, 1813 D) gngeor &L 1d, 1833

The Supreme Court of India was set up by the

A) Regulating Act, 1773 B) Pitts India Act, 1784

C) Charter Act, 1813 D) Charter Act, 1833

3L EBEIET YIOUST FLL S0 LMD FLLFEOL errrrrsserrrsseree HleomGeaumm Gevstor(hiLd.
A) 6 eumrSSMm@G e B) 8 aunmrs&ln@eir

C) 10 unmrsEHn@6i D) 12 sumy&&m@ e

Ordinance of Governor has to be passed by the Assembly within

A) 6 weeks B) 8 weeks

C) 10 weeks D) 12 weeks

LTITEHLETNSS0 @ITer(h gl L S0SM(m&arear Jmndssiu’ L gyHsul s
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&rev @lenLGleverfl sTevieeme| ?

A) s( LOTSLD B) eLp6tTn)| LOM&mIG6T

C) QLM LOTSEIS6IT D) (% eu(pLLD

What is the maximum gap permissible between two sessions of the Parliament?
A) One month B) Three months

C) Six months D) One year

Wlstreu(mLd omhleoruseflsy 6181 seofliumen grdliusvemiolienus Glsmessor(hsTsma) ?
A) usHW TG a1 B) 2 g&Ir WITCa&id

C) Gun@E amkisTeTLD D) solb(p LommiLd SreaLlit

Which of the following states has a separate constitution?

A) Madhya Pradesh B) Uttar Pradesh

C) West Bengal D) Jammu & Kashmir

SLN&HSHETTL S MMIGHENET TS
1. F&leitm emieilsr eLpeuld IlplILEHL & SLEHLISEMAT [Hl6m60 BT L (LplpiLjLd
2. @i grfueenoly gL 2 maursHuSlmhg IjgliLmL s L enLo
R USHIITE B[HES! QUGS
3. saupsr i Guelsr epod IplUMLE SLEMLSST I, LGSHILNS
Irflwevenioli] &L SSle0 Cai&sLILLL &)
4. 9pliLemL& SLemseT QLS Gleli&am)sE) (b CuTmHEIL.
B
A)1, 2, ommo 3 B) 1, 2, wmmud 4
C) 2, ommitd 3 D) 3 mmio 4

Which of the following stastements regarding the fundamental duties contained in
the Constitution of India are correct?

L Fundamental duties can be enforced through writ jurisdiction.

IL. Fundamental duties have formed a part of the Constitution of India
since its adoption

IIL. Fundamental duties have become a part of the Constitution of India in

accordance with the recommendations of the Swaran Singh Committee
IV.  Fundamental duties are applicable only to citizens of India.
Of the Statements:
A) I, II and III are correct B) I, IT and IV are correct
C) II and III are correct D) IIT and IV are correct

SLSSETL TS SHILBISN6TS S66nfl:

2 midl (A): 73eug rfuevsnnly HmSsn Himn FmusE I TEliusvsmoliy
S|bS6NE)| CUPEISILIG].

&mrewrid (R): LveunCrm Gssm sl le &lirmo genu Ln) GMILIL (HsTema.
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&0y @MU Herer Guluiigev srflumer allenLsmiug Csimh0ls 0!

A) (A) wpmd (R) @resord &ifl, B) (A) mmid (R) @rssor(hid &if), Gogyitd (R)
Gogyid (R) eteatuigy (A)elim@ aflwmenr  eteorLg) (A) el Fflwmenr elleméaLo6060
o6& LD

O) (A) sifl gyeormed (R) Seum) D) (A) saumi gy eerme (R) &ifl

Consider the following statements:

Assertion (A): The 73" Amendment granted constitutional status to the Gram
Sabha.

Reason (R): The Balwantrai Mehta Committee mentioned the Gram Sabha

Now select your answer according to the coding scheme given below:

A) Both (A) and (R) are true and (R) B) Both (A) and (R) are true but (R) is not
is the correct explanation of (A) the correct explanation of (A)

C) (A) is true, but (R) is false D) (A) is false, but (R) is true

SIL&@ (1D, 1950 oy6tor(h) 6TSHE0T eLPGULITS IIFDSSLILILL | ?

A) @ rslunmuly HEssh B)e sabdlummsdlsm 2 SHTa iy
ELPELLDITES

C) Biiaurs gy ememoTudlesr eLpsuLDTS; D) LMy EmL065T & SI60T (Lplp.6r| CLPSVLTS

Planning Commission was established in 1950 through
A) a constitutional amendment B) a Supreme Court order

C) an executive order D) a decision by the Parliament

6T o6ter(h &1L Glosusmal SLAISSSH0 SemeseIuTL g ?

A) 1984 B) 1985

C) 1986 D) 1987

In which year was Legislative Council abolished in Tamil Nadu?
A) 1984 B) 1985

C) 1986 D) 1987

(PS0MaUS) ohsTeT(h S LSSl (pserentn gaflssur L gemm wrg) ?
A) GoempusmiL 2_(TH6TS (& S60 B) Geuemmenoremio

C) ssmmiodlemiul 8w L (Hg6v D) Gamfleugisnm

The major emphasis in the First-Year Plan was on

A) employment generation B) agriculture

C) export promotion D) industry

‘Wesllele)” 18 oy euoT(H HimieiuLg) ?
A) 1946 B) 1956
C) 1949 D) 1954
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77.

78.

UNICEF was established in the year

A) 1946 B) 1956

C) 1949 D) 1654

&1 Qarhssiul(Herareunmlev srg) &ifl ?

A) weflg aerisdl @i —— B)Ul.&lw.erev.en —— 1996
&SIl Hm(hl&siT

C) sypamu snenflssr —— @nHur D) auarigd gjemajser —— Glomflsiv

Which one of the following is correct?

A) Human Development Index — B)PQLI- 1996

United Nations

C) Social indicators — India D) Welfare measures.-- Morris

@& Csramatud Qamiihsrsme smiGs o 6rTearg) ?

A) (pdemu Lopmitd Gl esThiT B) Qurkigeerpit

C) (piemu Lommid Lig;l Gl_eved] D) (iptbsmui opmith Gla6oTement
Indian Telephone Industries Ltd. is located at

A) Mumbai and Bangalore B) Bangalore

C) Mumbai and New Delhi D) Mumbai and Chennai
epTGaEaT @I 6T QSTLNETeme 6THS BT le6iT 2 SelGwT®H Hmaniu’ L g ?
A) W,.6T60.6T6. QYT B) w,.Gs.

C) 1L,.6T610.67. D) Guomg) Glsritoesf]
Raurkela steel plant was set up with the assistance from

A) USSR B) UK

C) USA D) West Germany
sTetoTGl6paTlil LOMMILD @UIMEmS; surmly SLAGIaET 2 (HeuTS&ILL L &) ?
A) 1956 B) 1957

C) 1959 D) 1961

The Oil and Natural Gas Commission was set up in

A) 1956 B) 1957

C) 1959 D) 1961

SI_L &G ueailsr 2 Lgemevaur 6Th& Hlsmeouiley @)L ?

A) drsLo S B) &L il

C) smiQer wisfl gnsasHe D) fnns Qurmermsmy et
@\l

The Deputy Chairman of Planning Commission
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81

82

A) is the Prime Minister B) is the Planning Minister
C) holds the rank of a cabinet D) is an economist or repute.
minister

2 NS AUTESHS ShIs TLIGLTE g mollesiu’ L g ?

A) 1984 B) 1994
C) 1995 D) 1996
World Trade Organisation was started in the year?
A) 1984 B) 1994
C) 1995 D) 1996

SUADET 196 6THS WmaI LSS gueor Gusor afldlgn 2001-1b gyer®h Lsarfl
afleuriiLiy 9|S\SL0ms 2 6Temg) ?

A) 8l15516Glp B) Sl0maGasH

C) @rmopTsLyd D) 2_5&L06w0TL-60LD

In Tamil Nadu, the district with the highest sex ratio as per 2001 census is
A) Tuticorin B) Tirunelveli
C) Ramnad D) Nilgris

SNEHSETOTL. S HMISHEMET IIIS:
u&enLliLrL fuflermed G S55&hS aumsuis osifssmel.
1. Garglemn 2 HUSE
2. geflu 2 NLIGE
3.  LoevorL6v GeumiLim(h)
4. weflgisEnararmsr Goumm(

Gleunpflsd
A) 1pmd 2 &ifl B) 3 wmmid 4 &ifl
C)1, 3 mmid 4 &ifl D) gjsmer&gin &ifl
The Green Revolution has led to marked increase in

L. productivity of wheat

II. productivity of pulses

II1. regional inequalities

IV. " inter-personal inequalities
Of the statements:
A) I and II are correct B) III and IV are correct
O) L, III and IV are correct D) all are correct

@& Lmmid Crmorseflsr &sHiu astefles selme allsmmhigiLg
A) 9yfl&a 6w B) 9|Glevasamevorigrflm
C) wglemry D)
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84

85

86

The chief center or meeting point of the Indo-Roman trade was

A) Arikamedu B) Alexandria
C) Madurai D) Musiri
g sweuef] prafsLn

A) uggmuilyi SueoT(\&6T  B) erpmuiiyid gy 6ooT(NS6IT LINERLOILITETS)
LILDEMLOLLITEUT &)

© solbGmulyLo Suerhisem D) epsstmmudiTid oy vor(hs6iT LLEHLOILIT6T S
LILDEmLOILITEIT &)l

The Indus Valley Civilisation is about

A) ten thousand years old B) seven thousand years old
C) five thousand years old D) three thousand years old
NI (207 12 FTTTH S 66U

A) &b B) Quirsm

C) 5581610 D) &L 1D

Upanishads are books on

A) religion B) yoga

C) philosophy D) law

giflurerr Gemgsmw CoMME6sH&Sa D ?
A) eTe0GeumyT GHena —— SMSIT B) wamuedlyrd —— @I ier&n Li&eT
C) Wsorm_ &) gyevwid —— useaIisaT D) soOrmGanr —— &hGseuiger

Which one of the following is correctly matched?
A) ElloraCaves -- Saka B) Mahabalipuram -- Rashtrakutas
C) Meenakshi temple -- Pallavas D) Khajuraho -- Chandelas

SLNESET0TL. Sn MMISHE0ET 118, @il Sifllsv gMismeullsy 9| miSume:
1. @rdHuraing Gmblsfluer gmsivg 2 NIHILHSSILG
2. Ufilges @HRSHwr wHmid werer  LTsTammSafl  TSHibdsmars
@&meoT(h) 9Tl FTeeT gjemLoLiy 2 (HeuT&sLL(HILD.
3. @ndurissmer L Hib Csmstor® TS E L) Jmn&sILHLD.
4. @swinflelensreniu LIflTgl60T 558
A)1, 2 npmuid 3 sflwresTemey B) 1, 3 mmd 4 srflimerene
C) 2, 3 mmid 4 srflwumeTeney D) 1, 2 ommiid 4 sflumsreney

Which of the following were included in the Cripps proposals?

L India was promised dominion status

IL Setting up of a constitution-making body consisting of the elected
representatives from British India and members from the princely
states.
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88

89

90.

I1I. Setting up of an Executive Council composed of Indians alone.
IV. It suggested partition of India

Ofthe statements:

A) I, II and III are correct B) II, III and IV are correct

CO) L, III and IV are correct D) I, Il and IV are correct

veflfudlearmey CFgISsIUT L gwemr Camuflsy @h&LTale 6ThiE IjemLohaieTeng ?
A) @6uevsdliuit B) @iy
C) srhgmym D) dleveurmm

The Jain temples known for the finest marble carvings in India are situated at

A) Gwalior B) Jaipur

C) Gandhara D) Dilwara

‘QeueiTememuGesr GleuaflGum|’ STLomeaTLd WTTTey euigelmLISGS SiLmfleasln L g) ?
A) gy &emiw Smumsmssf) B) sosuamiteurmsh Grm(m,

C) argmi eusveoLimil L GL6v D) L mSl ESSMmmemLowim

Who prepared the draft of the ‘Quit India’ resolution?
A) Acharya Kripalani B) Jawaharlal Nehru
C) Sardar Vallabhbhai Patel D) Pattabi Sitaramayya.

6‘?(3@ Car@ssiuerarer flsLpeasemer sirs auflnslity sflumsrans Caimn6lsh:
1 UTQSRISTST ﬁenaslﬂsm @miiy
2. smmadlredler BT&LT MG
3. wriSlerm L&
4. smhEhGssefl aflsveuLmrufsr QgL
A) 4, 3, 2. 10mmid 1 B) 3, 4, 2, ommid 1
C) 2,1, 3 wnmib 4 D)3, 2, 4 ommid 1

Arrange the following events in chronological order and mark the correct choice
from the options given below.

L Death of Bal Gangadhar Tilak

IL Nagpur session of the Congress

III.  The Moplah uprising

IV. - The inaguration of Vishwa Bharati at Shantiniketan

A)IV, I, Tand I B)IIL IV, Il and I

O 1L I, IIT and IV D) IIL, IL, IV and L.
sefls L @QISsSST ShHens TeaTmensSeLILI(bILeUT W ?
A) umeumesoTi B) unrg)

C) &6 S60WIT6EwT SMhHSTeuTTT D) LoemmLoemevLLILg S61T

Who is called the father of pure Tamil movement?
A) Bhavanar B) Bharathi

Dream Dare Win
WWW.jeywin.com



o1

92.

93

94.

C) Thiru.V.Kalyanasundaranar D) Maraimalaiadigal

(1 Seoeludled LomemTauITEEHLD, LomemoailaEmid 3 : 2 steoTm elElESSH0 o smamsur.
I|ouTsEh6T 20% LomemoTeuT S (@RI 25% LomstorellsEmin auLg aubGST Taflsy aLg)
UECHMT 9|eveuTs LomemTelTsefler F&aisLn W) ?

A) 67.5% B) 82.5%

C) 78% D) 58%

The Boys and Girls in a college are in the ratio 3 : 2. If 20% of the boys and 25%
of the girls are adults, the percentage of students who are not adults is

A) 67.5% B) 82.5%

C) 78% D) 58%

A, B, C,D g &Gumfler syrsif] auug) smbs albLhisEhes) (psr 45 ) etT(HhissT
@ A, B, C, D, X g &Gumfler snGuremgiu srmeil gl 49 g 6omhissT
sTefl60 X6 SMGLITEMSIL 6LIILIG)| 6T6dTERT ?

A) 64 oy etor(hseiT B) 48 gy s (&6

C) 45 g eooT(h&6iT D) 40 gy etor(hiser

Five years ago the average age of A, B, C, D, was 45 years. By including X the
present average of all the five'is 49 years. Then the present age of X is

A) 64 years B) 48 years

C) 45 years D) 40 years

em. 800/-&@ 5% el 655 - mrhserer &l (Hailly, Seflaily
Iy Swaumssr Goumiim( wmg; ?

A) em. 81 B) em. 41

C) em. 56.50 D) @eumniled 67giLblsvemev

The difference between simple interest and the compound interest on Rs. 800 at
5% per annum for 1 year is

A)Rs. 81 B) Rs. 41

C) Rs. 56.50 D) None of these

BCrm_L Hemsuled @ U@ 6 HLRSEHSE 1 S GCoussdain, I|s6r
sTEisHmauilen 10 Hifl misEps@ 1 &b Coussdmin Cgsarmre HETT L ST
Geussld wWimg ?

A) wemfl&@ 2 . B) wewflég 1. Sl

C) wenefl&@ 1.5. &5 D) wemfl&@ 2.5 &l

A boat moves downstream at the rate of 1 km in 6 minutes and upstream at the rate
of 1 km in 10 minutes. The speed of current is

A) 2 km/hr B) 1 km/hr

C) 1.5 km/hr D) 2.5 km/hr
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96

97.

98.

99.

720 wremrauisEmsTsT Lsaflufled smLsarasEmn Glustorgs@mid 7 : 5 eTeorm ailélgSle
2 eTementii. GLOGYILD 6TSHG6emenT GlLstoTaR6m Gam&HaLILL L Te) eildlsLn 1: 1 eTeor Lommid ?
A) 90 B) 220

C)120 D) 240

The ratio of number of boys and girls in a school of 720 students is 7 : 5. How
many more girls should be admitted to make the ratio 1 : 1?

A) 90 B) 220

C) 120 D) 240

8 Lipssdler (Crystal) giemolismut unml Csfhg Qarearar o LGWTSILHSSILD
CLlY

A) gs&dlauliy fimmeneoudliiey B) @moest himLomremeuuiliiey

C) gem Oeueflih (Atomic D) X- adli ellaflioy eSlememe (Diffraction)
emission) flmLomsmevusliLisy

Which of the following is used for crystal structure studies?
A) Infrared spectroscopy B) Raman spectroscopy
C) Atomic emission spectroscopy D) X-ray diffraction

(PSET (PSS, LAGITETES Jjemeusemer oSle S sl eSlepepmet] @eour
A) Genideiv lemmiés GLodeulave B) Qameirils Qami e

C) ST Q606U 6Tlg 60T D) Guuwii

The scientist who first sent electromagnetic waves to distant places is

A) James Clark Maxwell B) Heinrich Hertz
C) Thomas Alva Edison D) Baird

aflllged  LhlstT - @ememriysefled  Werasmiy 2 @ Qe (fuse) @sours
LweTL(hSSLLOSImG) ?

A) LOleoT RLLSms B) LEn (load)
QUEGLOSIISD

C) urgismiy &med D) LiletrenT (168 GemmLiL S (el
In the electrical circuit of a house the fuse is used

A) to regulate the current B) to load

C) as safety device D) as step-down device

@am&sr GL&leb stetr Ggm@Liilse (Number) gjlpLiLienL sTetoT
A)10 B) 16
C)8 D)2

Hexadecimal is the number system with base
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101.

102

103

104

A) 10 B) 16

0)8 D)2

@b Sjmiedler gunb (radius) Qs gjerelle) GlH&ED
A)1072 8 B)107° 1§

C) 1075 D)107"

The radius of an atom is

A)10"”%m B) 10" m
C)10'%m D) 10"m

X- odlieEnsE @55 I Jmatend Gmnhs wHtnT® ST g1? @S
sSfluss seaflomisarms Gaaflull_LubhEns. 98 &igsTareinmisT

A) a-sdlis6r B) B-adliger

C) y-sdliser D) smsuihlé s&lissr

The rays similar to X-rays but of smaller wavelength that are given off by
radioactive substances are

A) O-rays B) B-rays

C) y-rays D) cosmic rays

&0y OGasr@ssiu @erar @I msafl e Wergmmn  Biafpsfume
swrflssiubhi&mng ?

A) CriGeaue0) B) sreuoremy

C) 815815z D) Gul @

In which one of the following places is electricity generated from hydel power?
A) Neyveli B) Ennore

C) Tuticorin D) Mettur

s LCR &mmemL_Ludley (Circuit), 618 Lilsaramyid wilsirsmsssms afll s LSS
(Phase) (y58)& Q&siansg Gaidmg) ?

A) L (fledr [flemsuLoLb) B) C (leir Ca &)

C) R (uhletr gemL) D) epsirmid Garissa)

In an LCR circuit which will give a phase lead to current than voltage
A) L (inductance) B) C (capacitance)

C) R (resistance) D) all together

1Bt Sleusmev (Drop of water) G&ITer 61 AILTS @)(H5HS5E STT6UITLD

A) uriiy @g eflens B) @®mnhs o|WSsHn

C) smmIis SHemL D) fiflesr umefliey &etTemLo

A drop of water is spherical due to
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A) surface tension B) low pressure
C) air resistance D) viscosity of water

105  5Gwmedl gjemevaeafleor o)lie| eTevor

A) 20 kHz-&@ &lsLb B) 20,000 kHz-5 9|&&Ld
C) 20 kHz-5 &smme] D) 2 kHz-&@ @oney
The frequency of ultrasound wave is typically
A) above 20 kHz B) above 20000 kHz
C) below above 20 kHz D) below above 2 kHz
106  Gamemever Hlevmbe QSTTS STEUTLD
A) ool B) &memmesrs6r
C) u&ems @lemevs 6T D) gmesfliumigsit

Good pland sources of choline are
A) yeast B) mushroom
C) green leaves D) cereal grains.

107 gy isfl5Gam N6’ eTeTLg)
A) srpler 2 sellL e FeoLGumid B)  umeeussT 2 gefliyLer  menL Glumid

LSIES CaT&HmE L&IHES CFTHMS

C) u&dlsst aufl meoL Gumid wsrhs D) smhml el efenr LiTea s
Carisma

Ornithophily refers to

A) pollination through wind B) pollination through birds
C) pollination by insects D) dispersal of seeds by wind

108 &Gy QarhiSssUul hHsmaremaiuile Couglu Garin urSlefliumeme setoLMliLia|L

A) eorGamilin B) dlerménterfliun
C) somL_GrmGusL It D) QuéGuirmr
Identify the chemosynthetic bacteria among the following
A) Rhizobium B) Clostridium
C) Nitrobacter D) Beggiatoa
109  sraurrseafledlmng S gaflesstrs B GauaflGimid psmm
A) Bissdlay B) BrmeSlliGumgey
C) I9T6BTHL 864607 D) pymeatsrouimi GLoegear

The removal of water from the plants in the form of liquid droplets is
A) guttation B) transpiration
C) transduction D) transformation
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112.

113.

14

‘emvayeufledr” eTeatm LIMEOILIEY emTiGLomesr 2 MLGE Glginn o uilifl
A) gL e0&T B) LLepens
C) emeu& 601 D) ursteflum

‘Sirenin’ is a sex harmone produced by
A) alga B) fungus
C) lichen D) bacterium

&6 QerO&sUIU (HsTaTenauuils 6T 6( ((DEMLOWLITEDT Setor(b) sl (bletoreoof] ?
A) &8 L LI B) igrm@&mm
C) eflenusid D) aumegorL_im

Which one of the following is a total stem parasite?
A) Cuscuta B) Drosera
C) Viscum D) Vanda

o EISSGHS SO W@ELSTHG  CuNdlEToTs fhs  STEITSSe
2 (HEUTSSLILLL &) ?

A) ulLmewfl B) wombLipid

C) 2 (memer D) L e Gamen

The plant which was successfully used in the production of edible vaccine is
A) pea B) mango
C) potato D) cabbage

@ LGrmamflGwm aiema Clgsedlsir ListorenLl sevarLliuie|d

A) Qg6 smemTliLI(heg) B) 80s susna sorGLITGETLD SmevoriLi(hige
C) wguem Gur@mer smerlu@® D) 70s susns sorGUTGCETLD SmemTliL(hs e
suglevsmen

Identify the characteristic feature of a prokaryotic cell
A) Presence of wall B) Presence of 80s ribosome
C) Absence of genetic material D) Presence of 70s ribosome

&aITESSl6T Gug 9 serdlsrsmer LmsvLflgrem menl Glumih LGS

A) usniseflag et mifl&sn B) emiol_ GLmasmetorig fliumeSlear om fl&en
C) eowl GLrsmsmmeflurellssr o 61 D) uamsemilss S Sliflearmugd
&6)16)]

During respiration the oxidative phosphorylaton takes place in

A) matrix of chloroplast B) matrix of mitochondrion
O inner membrane of D) grana of chloroplast
mitochondrion
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eTonsseilly  wom  garsSHEF  CFwseflytn el CLTamesaTg i

srerL(bhSng ?

A) FreivL_ B) urdteflum
C) U ehems D) gpe&m
Mitochondria are present in all cells, except

A) yeast B) bacteria
C) fungi D) algae.

SLGEWTL QUTSSILLISMmETS Se6of

2 mi& (A): alleiorQeuaflufed GeasSsin’ L rmebsl, Ll mhg 6@ @G
SMTSH055 G686 IHs 2 hgeleng SrGestor(HLo.

smyeword (R): wbwlledlmhgl @ OIEL gMrésHeo, wiflmus &mnl Geummi
EUEMATLLILD (9)(5&leITM S

&0y @UNI.Herer @uluiigev srflumer el smiug Cs im0l 0!

A) (A) wpmd (R) @reor@d &fl, B)(A) mmid (R) @reior(hid &ifl, Gosyid (R)
Gueytn  (R) eteorugl (A) em@ - eteorugl (A)elim@ sflumsr aflsr&sLn
giflwrer elleTaaLo6060

O) (A) sl gyeormed (R) eum) D) (A) saim) gpermed (R) &ifl

Consider the following statements:

Assertion (A): A rocket that is sent to space has to give an extra force at certain
distance from earth.

Reason (R): At a certain distance from earth, earth is encircled by a ring of
vacuum

Now select your answer according to the coding scheme given below:

A) (A) and (R) are correct, but (R)is B) (A) and (R) are correct, and (R) is the
not the correct explanation of (A) correct explanation of (A)

C)(A) is true, but (R) is not correct D) (A) is not correct, but (R) is correct

uigwsd T oy Ll igwed IT o et Gummsd), &6y Car@ssiu(Hsrer @nuibsemsT
Gamreuor(h sfiwmer afsoLsmniug C&THEOS0H.

UL lguie) 1 U tguie 1T
a) BT s&HnEL, SMhSsS 1) Fevery Guim
Sn@Ld 2_erer Ggm_ri
b) sparflufletr Geuasi 2) Lot
¢) Grg G gjemevas6ir 3) Guramevl_
d) ojemieiletT gjemLoLi 4) Qami e
Gmuibser:
a b c d
A) 1 3 4 2
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B) 3 4 2 1
C) 2 3 4 1
D) 4 3 1 2

Match List-I with List-II correctly and select your answer using the codes given
below:

List-1 List-II
a) Relationship between 1. Neils Bohr
electricity and magnetism
b) Velocity of light 2. Amp

3. 1t

¢) Radio waves
d) Structure of atom

Hert

B) Wlearamy yuilsy
D) Briewppélé sLiLe

B) electric locomotives
D) submarines

LGWmeges sTle0lmHg GUDUILHIENG) ?

A) 6TEl0 S0&HOMTED B) Q&sugiGeumeny
C) s(mlY E56m8 D) soi" Grymiiuim
From which of the following biodiesel is obtained?

A) Ethyl alcohol B) Cellulose

C) Bagasse D) Jatropha
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123

124

125

‘L&’ 6T60TLIS) 6THS STeUT & (pLsSadlmng) Gumiu®&ng) ?
A) GenrGuimemu B) eflinGevrmernGlLirii
C) QLG memu_ D) em608560T

The plant group which yields ‘Taxol” belongs to

A) Bryophyte B) Gymnosperm
C) Pteridophyte D) Lichen
smaml_Grm smiusr 2 NUSST LIWETUHSSUILIGID o) 08T
A) &HiypmerdlevGeorflium B) @&Gsmmlsveur
C) Gum_MGwIr&r& &6 D) smiamenid

Alga used for hydrocarbon production is
A) Gracilaria B) Chlorella
C) Botryococcus D) Sargassum

Cadlw 2 uflifleor veLTEGE FLLD (UGLITEmLaITElg) TLIGCLITE] HenL (PEOMSES
UESS! ?

A) 2002 B) 1992

C) 1997 D) 1967

When did National Biodiversity Act of India come into existence?
A) 2002 B) 1992

C) 1997 D) 1967

6TI5S [BITEIT 6TILIL 610 HI6MTS SemL Ll SaLILIHSsTmE) ?
A) sgeoteufl, 1 B) e7liyev, 4

C) p&Lour, 1 D) gy &6l 20
World AIDS Day is observed on

A) Ist January B) 4™ April

C) Ist December D) 20" Au gust

1056 2_L_66T 6(, (S6™MBS 6T600T Sn L LILIGID CUITG) 9I56STeng 23— 960 LTl
aU@GL(LD 6Tefley 96dT Lo WwWimg ?

A) 21 B) 25

03 D)2

What least number must be added to 1056 to get a number exactly divisible by 23?
A)21 B) 25

O3 D)2

@\ stevorasefler elldlgmisar 13 : 15 wmmid geumlsr WESm Gurs) wLrkig 39780
6T6ufle0 O|h& 6T6UOTSH6T LITeME ?
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128

129

130

A) 2652, 3060 B) 884, 1020
C) 884, 1040 D) 670, 1340

The ratio of two numbers is 13 : 15 and their LCM is 39780. The numbers are
A) 2652, 3060 B) 884, 1020
C) 884, 1040 D) 670, 1340

@geumruisy  sTEHmer  9GwflEs  wemHudsst  @hHuraing elewid
C&igleTeTTIIg6T ?

A) epeim) B) efbgi

C) a0 D) &7

So far how many American Presidents visited India?

A) Three B) Five

O) Six D) Seven
SallTaurdlast @Ih&lL LMTTERLIGTNSMmS ST&SIL Hrer

A) meulbuir 13, 2001 B) Q&li_tbur 13, 2001
C) p&tour 13, 2001 D) g & 13, 2002
Terrorists attacked Indian Parliament on

A) November 13, 2001 B) September 13, 2001
C) December 13, 2001 D) December 13, 2002

2000-i0 gyeior(D) Goiged guememniud 6hG CHF sSLSufsT  IHSHeSMmS
F&Swg) ?

A) Gadlweurs smmidlen B) sgeurgm sermid

C) &W9sg (71d) D) &flen

The Election Commission in 2000 derecognised which National party?
A) Nationalist Congress B) Janata Dal

C) CPI (M) D) CPI

LogvoTL_60 SLileagstr LIfibglemrseT 61hg )6 GlEwLGSSIU L&) ?
A) 1989 B)1990

C) 1991 D) 1992.

In which year was Mandal Commission report implemented?

A) 1989 B) 1990

C) 1991 D) 1992.

Q(meUT L&SeTemeuuller sUTHTLSTTS Caihb0lsHiSsLILLTL e
A) gurg sLSuller o mifesrmre  B) umrmemustmsdler 2 mitidlet @lsueme
QamLihg @it
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132

133.

C) slésE uumpulLemrd D)

ISl HSmm.

g sLler 2 minfleryrs

OIS @(m&s6omLD 360608
@l6veumLogyiLd GLITS6UMLD

After being elected as the Speaker of the Lok Sabha a person

A) remains a member of his party
C) becomes a non-party man

U (h&@ Guwr Cumme) ?
A) Gamubysgm
C) smepdlyrin

Place known for silk fabrics is
A) Coimbatore

C) Kancheepuram

&l.6160. 9y 1T.00.607 eNflQTSLD 6T60T6DT ?

A) @ &F6oTL_I76L Gevar  Men&
Getraivigpi
C) Qaearlye Gesr  fers
@etreiviguil

What is the expansion of CLRI?

A) Central Laser Research Institute
C) Central Leather Research
Institute

B) is not a member of the Parliament
D) may or may not remain party man

B) (pibemul
D) t&,7&

B) Mumbai
D) Surat

B) Gsstri_ire0 Geul_&aiv iflatié @)etTaigi L

D) seared Lmmid eommhiGGeusy Mars
@lstrenigup

B) Central Latex Research Institute
D) Culture and Language Research
Institute

U lguwied I'en Littewied IT o et GQuTms8), &6 Qarhissiul hsrer @nuibgsmer
Gameuor(h sfwmer afeoLsniug CQsiH6s 0.

LI Lo 1ie) |
a) GeuLbL [@lemev

b) 9|r& @lemev
c) glerdl (@lsmeu
d) eflebeuld @lemen

Gmuibser:
a b c d

A) 2 1 4 3
B) 1 2 3 4

C) 3 1 4 2

U tguiev 1T
1) eNEMUSIT SL6 6T
2) fleuetr
3) |LooedT
4) eflepem) SL 66
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D) 4 3 2 1

Match List-I with List-II correctly and select your answer using the codes given
below:

List-1 List-II
a) Neem leaf 1. Lord Vinayaka
b) Arasu leaf 2. Lord Shiva
¢) Tulasi leaf 3. Amman
d) Vilvam leaf 4. Lord Vishnu
Codes:
a b c d
A) 2 1 4 3
B) 1 2 3
c 3 1 4
D) 4 3 2

A) ueomiiLipL
C) sumsmLpliLILpLd

its is not included in the list of ‘Mukkani’?
B) Mango
D) Sapota

o Lt GuTSSH, 6y @M _@erar Goluibseflssr
oL 6oWS OTTH6S 0.

UL 1puisd 1T
1) 6TLo6oT
2) &leuGlLimLomear
3) ellpmusst
4) (p(ms6aT
@nMuibse:
a b C d
A) 3 2 1 4
B) 2 3 4 1
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D) 4 1 2 3

Match List-I with List-II correctly and select your answer using the codes given

below:
List-1 List-1T
a) Bull 1. Yama
b) Rat 2. Sivaperuman
c) Peacock 3. Vinayaka
d) Buffalo 4. Muruga
Codes:
a b c d
A) 3 2 1
B) 2 3 4
O 1 4 3
D) 4 1

136. wligwed I & wligwe II 2t er Gurmssl, &6y @I @erar Gl seaflsr
) \ oS Corie| Glaiis.
UL tpuisd 1T
1) Loig L] Lo6MEV
2) L6torL LD6M6V
3) erifloemev
4) 6TEhSIL LoemEV

B) 3 4 2 1
C) 4 2 1 3
D) 2 1 4 3

Match List-I with List-II correctly and select your answer using the codes given
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below:

List-I List-1I
a) Nilgiris 1. Fold mountain
b) Vosges 2. Block mountain
c) Alps 3. Volcanic mountain
d) Mt. Fuji 4. Residual mountain
Codes:
a b c d
A 2 3 4 1
B) 3 4 2 1
C 4 2 1 3
D) 2 1 4 3

Ueref Borsmse  a&molu
Imp&sLLbhiEng ?

A) S|IWI6TT LD6TITL 6V LI(H6USTEVLD
C) wSHI HEOTHSL 60 &6V L yeoGleuer]

The climate around Bi
A) Tropical monsoon B) Hot desert

D) Semi-arid steppe

Hla gere| siflgasmensmr Glgmsuor(heearg)

B) wamrmegipym
D) gy irCsstid

maximum area of blace soil occur?

A) 2. B) 3.4%
C)4.2% D) 4.3%
dHled 7-eug Gufiu uriuere] GC&STEITL BTG, IS eeeeeseeeeeeee &

G&meuo(heTearg)

A) 2.4% B) 3.4%

C)4.2% D) 4.3%

India is the seventh largest country in the world. It occupies........ of world area

A) 2.4% B)3.4%

C)4.2% D) 4.3%
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A) g|mevormEs NIFGCsHELD B) Gusmeowim
C) wsofliLy D) Br&meunTsg)
The Khasi and Jaintia hills are located in
A) Arunachal Pradesh B) Meghalaya
C) Manipur D) Nagaland
141, lerami 2 pusSuiled 2 eudled Gluflu B
A) @hghwur B) urisermGa &L
C) ur&lergmesr D) uf sorhigsm
The largest producer of chillies in the world is
A) India B) Bangladesh
C) Pakistan D) Sri Lanka
142 sy ellmsTEsa)sE) 2 &hs el
A) 20°C v 30°C B) 15°C ssb 40°C
C) 15°C upgev 20°C D) 25°C g6 40°C
The ideal temperature for the growth of sugarcane is
A) 20°C to 30°C B) 15°C to 40°C
C) 15°C to0 20°C D) 25°C to 40°C

143. uligwed I & wligwe II 2161 Gurss, ECyp @I @erar GoluibDseflsr
IpliuenLulled sflwmenr aflemLsnws GCaiia| Galis.

ULlgiwied T U tguie 1T
a) 61eGIT6IVL. LD6m6V 1) Gsetr oprulifl&em
b) SlaflogramGrm wemev 2) oG
C) 6TEULIFITAN LO6M6V 3) giifsem
d) 9|5Cameim@Geu Lwemey 4) gydhur
@Muiser:
a b C d
A 1 2 3 4
B 2 3 4 1
C) 3 4 1 2
D) 4 3 2 1
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Match List-I with List-II correctly and select your answer using the codes given
below:

List-I List-II
a) Mit. Everest 1. South America
b) MT. Kilimanjaro 2. Europe
c) Mt. Elbrus 3. Africa
d) Mt Aconcagua 4. Asia
Codes:
a b c d
A 1 2 3 4
B) 2 3 4 1
C) 3 4 1 2
D) 4 3 2 1

Uletreu(meusareummled LTLiLeTelled eTay Sl mr( ?
A) e 63T HSITLD B) GumerrmsGasm
C) mmeuGrm D) &meor Lofl@erm

Which of the followingis the smallest in terms of area?

A) Vatican city B) Monaco

C) Nauru D) San Marino
Slerraifl Qeulineiumis oleLms SremriiLbid BT

A) G&strement B) &\(meueuthSLTLD
C) 1960601 D) (pLbsmL

The maximum daily range of temperature can be observed at
A) Chennai B) Thiruvananthapuram
C) Delhi D) Mumbai

usSlesfl eufium( Wrymed FHLGHISSILL L &) ?

A) Or®\ECaTeLTSH60T B) aiflsmevesr

C) @emaiGaT 9jlg S6iT D) G&mi@L (heusar
Who established the ‘Pathini cult’?

A) Nedunjeraladan B) Karikalan

C) Elango Adigal D) Senguttuvan

SMHTL&L GUITT&sT @lauTsEnmsalmLGiL HLESS!
A)  simEMLs  meumy  womid B) SIHTL& T56UITL| LOMMILD
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BRI A (ERVTT Ly BIQITEhHSSTITS6T
) BRI A (VI oomin D) @eimmier e7giLhlsismen
BQUrEh &SI S61T

The Carnatic wars were fought between

A) the Nawab of Carnatic and the B) the Nawab of Carnatic and the French
British

C) the British and the French D) none of them

SLGEWTL QUTSSILLISMmETS S66of]

o MIF) (A): GORTETOTT&H6T LSS QY Fimenal L, Tals0res Clemeoor. airrser
smewrid (R): @eurser W& @arsdleo Camernliuatseir

&6 @I Hsiem @muiiipev sflwmser ellenL_smwws GCaiimh6lsb:

A) (A) upgid (R) @rem@d &f), B)(A) wppid (R) Grsm@id &, Guogid (R)
Gueyd  (R) etearugl (A) eflmg ererug) (A)ellnG sfliumer ellarssLwee
giflwmesr efleTss00

O) (A) &ifl gyeormed (R) Seum) D) (A) s0umi oy eormev (R) &ifl

Consider the following statements:

Assertion (A): The Kushanas were of Central Asian origin

Reason (R): They were a derivative of teh Yue-chi tribe

Now select your answer according to the coding scheme given below:

A) Both (A) and (R) are true and (R) B) Both (A) and (R) are true but (R) is not
is the correct explanation of (A) the correct explanation of (A)

C) (A) is true, but (R) is false D) (A) is false, but (R) is true

SLSETTL TS SILRISEmATS S6usoi]

o miFl (A): LT&LIT gyererflGlugen. sererm_& @Qusssms gy msGuw g1 e

TSNS TS SleuTir.

amyewrd (R): g, 9|emersgl Sl @hSIL &SmeTD &SSNE JLummuL (b

66T 9|rlue (PYs&sS5HlT S1p eeTml ST aflmLollerm.

&0y @il Gerer @nluiigev srflumer ellenLsmiug Caimh0ls 0!

A) (A) sifl gyeormed (R) S6um) B) (A) saum) gyeormev (R) &ifl

C) (A) wmmid (R) @rsior(hid e D) (A) &ifl wmmid (R) steorug) (A) e9n@
giflwmeor elleTaeaLo.

Consider the following statements:

Assertion (A): Dr. Annie Besant organised the Home Rule movement against the
British rule

Reason (R): She wanted to organise all sections of Indian people on the basis of a
single political slogan above religious considerations.

Now select your answer according to the coding scheme given below:

A) (A) is correct, but (R) is not B) (A) is not correct, but (R) is correct
correct
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C) Both (A) and (R) are not correct D) (A) is correct and (R) is correct
explanation of (A)

Iyflwrsefler smsgiiy teraimeasramnier Sn Ggiiiain 260Ts 66Ty 68l ?
A) Hi&mm B) 9|g\swmsi

C) ysrveilsiTei D) sura6n

Which one of the following is not the minor deity according to Aryans?

A) Mitra B) Adityas

C) Asvins D) Vasus
wanmureflegdlsr WslGufiu afers o emrwmeT

A) Simrasm B) siundisd)

C) mTssmieg=6orm D) eun&iLIbgI S{6rommIsT

A great exponent of Mahayanism was
A) Dingnaga B) Dharmakirti
C) Nagarjuna D) Vasubandhu Asanga

Slereu(meustreummis, (pSed 2 esLGumfle. @nhs effisEpssns &L lulL
Hlemeurey & etTeurid 618 ?

A) @nlumeller BisnLpe eumrlilsy B) @il Cal

C) eflenili TS D) el&GLmfwm fHlemeoeys &nL b

Which of the following monuments was built in memory of the soldiers who lost
their lives in World War 1?

A) Gateway of India B) India Gate

C) Vijay Path D) Victoria Memorial Hall
€85 LLIBTD STEVAIMLLI (LPS6T (PSH6VTs: Smbg e L1 gy etor(H)
A) 1839 B) 1849

C) 1859 D) 1869

Suez Canal was first opened in the year

A) 1839 B) 1849

C) 1859 D) 1869

IanhsT eafliumgsT sl unml GHILILIubhEng) ?

A) smeerT LOGLD B) Uss L&D

C) emg6aud D) em6v6u8T6ULD

Which is described in Ajanta Paintings?
A) Jainism B) Buddhism
C) Saivism D) Vaishnavism
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LErESe GlEmeTems 6TmIEG) (PmMUILOSSILLL G ?
A) umferv B) Lg16IL_s0e)l
C) umetsr(hirk! D) Q&G

Where were the principles of Panchsheel regulated?

A) Paris B) New Delhi

C) Pandong D) Cairo

“GaeliunGm SLowiL, FLowid eTerUg| @hdlumenea Crdlliug” Clamemsreu w2
A) aeumhl eNGeusmenth it B) e mmymievereoT GLITeNY

C) us&hd amdly gL D) ume SRISTST SHlevasit

Who said “Patriotism is religion and religion is love for India™?

A) Swami Vivekananda B) Raj Narain Bose

C) Bankim Chandra Chatterji D) Bal Gangadhar Tilak
U556 Sensuliley LTHslsaTs 66t

A) svgmil B) efl&mid

C) emagswWwm D) Qyedl& Leur

Which of the following is not a representative of Buddhist art?

A) Stup B) Vihara

C) Chaitya D) Relic towers

Gerfiu e @ SMbe emeTmTas ellamhiEe.s)

A) shogymil B) pLussit

C) o|Gamsrag) Simeuorser D) (B) wmmitd (C) @resor(hid
The masterpieces of Mauryan art were the

A) Stupas B) Sculptures

C) Ashoka Pillars D) both (B) and (C)

Hbg) s6leuaf] LSS eustTTHISIL ClGLleILD

A) uaug) B) @\h&\redT LommILd 621(T6v0T60T
C) YibioesT D) aflsiggtm

The people of Indus Valley civilization worshipped?

A) Pashupati B) Indra and Varuna

C) Brahma D) Vishnu

IlgliLenL & Seailullesr “eumim Sl L " wmmesd (wpssr@Lomuiinn L g ?
A) soeuamiteomed G, B) edllwrass 960l et

C) waTSLT &MhE D) 6TLd.67. sfletrenTm
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Wardha Scheme of Basic Education is proposed by

A) Jawaharlal Nehru B) Liaquat Ali Khan

C) Mahatma Gandhi D) M.A. Jinnah

GUST&ET 9j1" &5 STUSMSE ST IpMID FTS QFMLILIL| SigGUTLOTS @)([HhS ST6ULd
A) Guemflwu smeuid B) amieg aU&Seur &6l

C) eramen D) Gemypriseir

Compared to Gupta age the caste system was more rigid during

A) the Mauryan age B) the time of Harshavardhana

C) the Sakas D) the Cholas

@eumms eTeurr GeFmLp LosdTeoTr ?

A) Qi H\epOlE e B) siflsmevsor

C) Qm(h\epGaTouTa6aT D) gyflwiinemL. sLks 6k 0H\e56ls st
Which of the following was a Chola King?

A) Nedunjheliyan B) Karikalan

C) Nedunjeraladan D) Aryappadai Kadanda Nedunjhelian
&ereng Flovetr Camuilenevs &L gl @QUITSTTET 6(T

A) Gamyp Losdreart B) Li6V6v6 LDGTTEBTIT

C) LImetTig LI LOGBT6BTIT D) @leummie 678 Lhls0emev

The Shiva temple at Thanjavur was built by Rajaraja the Great who was
A) a Chola ruler B) a Pallava ruler
C) a Pandya ruler D) none of them

&hgl subaeafl Erefei seum@Lily&Seiu L gy s

A) 1922 B) 1910

C) 1822 D) 1824

The Indus Valley civilization was discovered in the year

A) 1922 B) 1910

C) 1822 D) 1824

snins e, Gampyrd Camullams &L igweT

A) (pS60ITLD TEYITITEn6oT B) efl&&ln Gamypstr
C) pmegm mmegm D) ypgevmid nrGeorliysar
Gangaikonda Cholapuram temple was built by

A) Rajaraja I B) Vikrama Chola
C) Rajadhiraja D) Rajendran I
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SLNEHSHET0TL S MMIGHENET 118
Lomeul” L [EITeumasLd 6T6aTLIG):
1 wre L SSMET FLLLD RUBIG HIfarss5mg GLom6l&TeTEnge
2. el L SSM@eT eu(meumil flifeursi
3. wrel LsSm@er Gloum’ (H Hifeursid
4. wmel L sHn@GeT Gumg) fiifaumrsid

@eumdlsd
A) 1w HGw B) 2 i (HGLo
C) 1, 2, ommitd 3 D) 4 " (HGw

Consider the following statements
District administration stands for

I Law and order administration within a district
II. Revenue administration within a district
III.  Developmental administration within a district
IV. Public administration within a district
Of the Statements
A) T alone is correct B) II alone is correct
O) I, I and III are correct D) IV alone is correct

@& grfluevenioli) &L L Sl 6TLLT61S) I L eusneruiled sT&semenr GlomLlasit
2 aiTemenT ?

A) udlGleer’ () Gomflser B) usGsmetrLig) Glomflser

C) ugleorm) Glomflesm D) @musesmery Glomflssi

How many languages are there in the Eighth Schedule of the Constitution of India?
A) Eighteen languages B) Nineteen languages

C) Sixteen languages D) Twenty-one languages

WSS YTEMMRISL 6THS LI Lpwlsdley Seofliu’ L giSsmsms Censsidng ?

A) b EW L IgiLied B) Lomflsutt UL g 160

C) Qumgs L ig tLi6d D) (A) mmid (B)

In which list does the Union Government enjoy exclusive powers?
A) Union List B) State List

C) Concurrent List D) both (A) and (B)

SLNEHSHETOTL S HMISHEMET I 118

@nSurais) Hseaie Gunid 2 flenw geidu, rblsresfle

Hireurssdl waser LnRGsnmL S SLILIHS SIS

2. wsssfler BUSMSSE LTSSTTS HTaTSSHmE 2 (HeTSES60
3. mrser (panuiled FfeTsS5ms 2 (HeTs @60

4. flireurs (g CaubhiSS60 s affllisenTey sTHLIHSSIS60

.—L
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Gleumgilsd
A) 1, 2 pmid 3 sflwmereney B) 2, 3 wmmid 4 srflwumeTene
C) 1, 2 mmid 4 sfliwmereney D) 1, 3 memid 4 sflumesTsne

Consider the following statemetns:
Right to information is necessary in India because it

L increases people’s participation in administration
IL makes administration more accountable to people
I1I. makes administration more innovative.
IV.  makes people aware of administration decision making
A) I, II and III are correct B) II, III and IV are correct
O) 1, I and IV are correct D) I, III and IV are correct
6T opetor(h 2 Wiib&lsrmid Gssrensruied sHUGSSILLL 81 ?
A) 1862 B) 1871
C) 1881 D) 1891
In which year was High Court in Madras established?
A) 1862 B) 1871
C) 1881 D) 1891
I|-8.(p.& 6THS LIMTT(ERLIGTY @lemlS6sT 56016 (Lpsetr (psers Glaumml Glumms ?
A) semi B) gy etorig Ui tg
C) Sleor(h&&60 D) wgleniy
In which by-election to the Parliament did the ADMK win for the first time
A) Karur B) Andipatti
C) Dindigul D) Madurai

uCigiied I e uifpwed II o er sflursl Qur@psd), &6y @I Herear
@mluihsafler gpliusmLuils sflwmer afsoLsmws Coiay Gailis.

UL tgtied U tguiev 1T
a) Sly.s 1) LomibLIpLD
b) 91.8). 9.5\ (.8 2) 2 gW tgiflwear
c) w.&.1.5 3) @I smL @lemev
d) uri0.5. 4) LLDLITLD
@mMuibser:
a b c d
A 1 2 3 4
B) 2 3 4 1
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C 3 4 1 2

D) 4 3 2 1

Match List-I with List-II correctly and select your answer using the codes given

below:
List-1 List-1I
a) DMK 1. Mango
b) AIADMK 2. Rising Sun
¢) MDMK 3. Two leaves
d) PMK 4. Top
Codes:
a b c d
A 1 2 3
B) 2 3 4
c 3 4 1

173 & (PSL IIMESTTS @)(HHSeT

B) &monmsy
D) usg6aI&aeLd

B) Kamaraj
D) Bakthavatchalam

174
B) 232
D) 234

The total number of members of Tamil Nadu Legislative Assembly is

A) 231 B) 232
C) 233 D) 234

175  sUAPET 960 2 et shengemit YlpsLLbhSSuer ?
A) stid.g). pT&aThSliyeT B) someurd) & et Sliyear
C) smeuormhld D) Gsgwisuedlgm

Dream Dare Win
wWWWw.jeywin.com


ssta
Typewritten Text


176

177

178

179

www.sstaweb.blogspot.com

In Tamil Nadu farmer market is introduced by
A) M.G. Ramachandran B) Janaki Ramachandran
C) Karunanidhi D) Jayalalithaa

SLADHT 1960 6THS LIMRI L SSl60 &S6T Glgmeme 2001-1 gy eor(H Lsmarl alleurtiLig
I|H&LTs 2 6ieng) ?

A) wgjenry B) Glastremenr

C) CamuibLSgri D) $m&d

The district with highest population in Tamil Nadu as per 2001 census is
A) Madurai B) Chennai

C) Coimbatore D) Trichi
SLOLDBTL 96D 6T Lomeul L1 y&ls sevallunfle] GUbmeTers) ?
A) setresflium@Loi B) &l 0meGeusd]

C) sLgm D) &@pamalt

The district with highest literacy rate in Tamil Nadu is

A) Kanniyakumari B) Tirunelveli

C) Cuddalore D) Thanjavur

SLPBTL 9637 L&SET CBMme YL T&SH), 2001-10 &s6T Csmems &6rs6le HIilsr
Ulg 6ThHlemeuuiled 2 eirers; ?

A) 478 B) 456
C) 4N D) 626
The density of population in Tamil Nadu is (as per 2001 census)
A) 478 B) 456
C)411 D) 626

SpssenL  ahy (pomemw  G&S (SEBD) Gaimbos®h&siul L LnkiGsasmer
s Siallhsrs glpsiubiSSiug, @inemmuilen

A) gmaTsg  URIGSERSGSL  B) UG LIEUIT, LIMI(8) 85 (61 & SIT60T
Q& msim(Lps 60 (A It Cpmemsenil (eiTsn L e Gl ClEaISsIs60
CFIS5560

C) (OF: Q) Qamemgsmw D) Oamarpgsn 6&ilg obsmDd  HTsT
afimLIemenT QETEMSIL6TT LGS EHSST OSTensmil 0l&aIss)se0
Ffl&sL (Hge0

SEBI has introduced rolling settlement for selected shares under the method

A) all shares have to be paid for on B) purchaser has to make advance payment
the day of purchase for the share

C) purchase can be set off against D) payment has to be settled at the end of
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sales 5" day

SLSEIOTLQINMIET 6THhS & Mml @HATT Qe S L 5ENE CsTLimLIg) ?

A) wewor O BT uTgISTOY  B) ST STemeus6T 9|emLg S0
GamiyenL i Golsmen

C) sMpssLLL, wemeear) mmid D) elsmerujd wmmid efemsmum flov euer
el L Guotour(h)

QaTssRmusEHsE Qs ik

BULPMBIEGH S 60

Which of the following statements is correct regarding Indira Awas Yojana?

A) Soil and water conservation B) Construction of rural roads

works

C) Providing houses at free of cost D) Land development and waste land
to the members of SC / ST and free development

bonded labourers

ultigwed I e wlipwe II oLear sflursl Gummsd), S6p @Sl Hsrsr
Gluihsafler gL ufls sflwmsr afsoLsmws Coiay Clals.

UL lpuisb I UL Lo uwisb 1T
a) en.67LL.&l.ey 1) 1955
b) en.&l.en.8.en 2) 1964
c) 80.19.19.69 3) 1948
d) ermmind) @M @GLod) aurkie 4) 1971
Gmuibser:
a b C d

A) 4 3 2 1

B) 3 2 4 1

c 3 1 2 4

D) 2 3 4 1

Match List-I with List-II correctly and select your answer using the codes given
below:

List-I List-II
a) IFCI 1. 1955
b) ICICI 2. 1964
c) IDBI 3. 1948
d) EXIM Bank 4. 1971

Codes:
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a b c d
A 4 3 2 1
B) 3 2 4 1
C 3 1 2 4
D) 2 3 4 1

SLNESHETOTL S MMIGHEDET 118
1. Qurgisgienm Bmeer elflurssn, Csmilbgnn GCsrarans Siomeor,
1956-8 9|l lILIEOL LTSS GlsTsuoTL g
2. 9me 19916 gre yHw QgmfibGsmearms gMellsss
3. gra ahs @ amiindl L Smsiwn gnflalssaisme
A) 1wl (i &ifl B) 2wl (hib &ifl
C) 1 nmd 2 &ifl D) gjsmer&gin Fifl

Consider the following statements:
L The expansion of the public sector was based on Industrial Policy
Resolution, 1956
IL Govt. has announced New Industrial Policy in July, 1991

II. Govt. has not announced any industrial policy at all
Of the statements:
A) I alone is correct B) II alone is correct
C) I and II are correct D) all are correct

WIpemLill  S[HSSl6TLe  ‘OETHTIL  SFSGel  FUPSTLUD’  eTarm  Gl&me
afleufl&siLbhSms) ?

A) werSHIT ShS B) &mud. @iy s

C) spsuamiievmsd Gm(m D) &g eusueuLmiil LI GL 60

On whose vision was the term ‘democratic socialism’ described?
A) Mahatma Gandhi B) Smt. Indira Gandhi
C) Jawaharlal Nehru D) Sardar Vallabhbhai Patel

SLpameueTaINIeT 618 sfliume GummhSliererg) ?

A) Qamflh Qarerens YMsmes — B) URIEG epSET  SemLLINSTET (& W
2002 INl&ms (Crmugrmesr sl lp) —— 1987
C) o&dw  (peremrensll  gfleor D)  uSsTeug  onhsmeiT(h 0 S
Gmmhs L& Curg) Gaws St  Qarmsiu’Lg —— 2005

Which one of the following is correctly matched?
A) Industrial policy statement -- B) Report on the committee on
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2002 disinvestment of shares (Rangarajan
Committee) -- 1987

C) Common Minimum Programme D) Start of tenth Five-Year Plan -- 2005

of United Front Govt. -- 1996

TS CET&ESSSNETS Bl&ls @1 Blul&ssiu L g ?

A) dlLn  smms  aumeumi B) gyhblu Geeomeussflemiu L
QLEMHISmeT LSlThsafliugnsmer

ufiiglenm Gleinu

C) Gurgisgon Hmeuemgst D) eufl allflés

oorugTors  Gaweur  Lflhgenr

Geinu

For which purpose is the finance commission appointed?

A) To make recommendation for B) To earn foreign exchange
devolution of non-plan revenue

resources

C) to recommend measures for D) toimpose taxes

profit ~ making public  sector

enterprises

SS6uTL UTSSILIMISem6TS S6v6nf]
o Ml (A): {7, 2,12, 5, 9} ysrarfl efleurs et BHOGleustr 7 g @&Ld
smeord  (R): e yatefl  efleursdler  emow  wHICL  HHGeussOr

sTTmemSSLILMGEID .

&0y @MUNIL Hierer Guluiiigev srflumer ellenLsmiug Csimh0s 0!

A) (A) sl gyeormed (R) aum B) (A) wl (hid &flwmerg)

C) (R) w (b siflwmeors) D) (A) &ifl mmmid (R) @ireior(hid Fflwimenrs,
Gued (R) eteotugy  (A) efm@ &rflwmeor
o167 S SHLOM(GHLD

Consider the following statements:

Assertion (A): Median of {7,2,12,5,9}is7

Reason (R): The'middle most value of a data is called median.

Now select your answer according to the coding scheme given below:

A) (A) is true, but (R) is false B) (A) alone is true

C) (R) alone is true D) Both (A) and (R) true and (R) is the
correct explanation of (A)

ulipwed I &g uligwed IT 21 67 @Qurpsd), &6y @I Rerer @Gnluibhserflsr
IlpliuemLulled sflwmenr afenLsmws Caiia| Galis.

UL tg ey T UL tpuisd 1T
a) L (bHney Gsp 1) sn L () srmafl = Hleustor = (ps®
b) LOMNISH6V (G 6T0TELD 2) GOMeUTETS)|
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C) 6(I FLOFST LiTeusdlen 3) allyssm_ (b wrmumh
d) Ol mig grmef 4) Q6N LML SLES (PleWing)
a96u&&LD
@mMuibse:
a b c d
A 4 3 2 1
B) 4 2 3 1

C 4 3 1 2

D) 3 4 2 1

Match List-I with List-II correctly and s
below:

codes given

List-I
a) Correlation coefficient
b) Coefficient of variatio

c¢) For a sy . tage variation
distribution
d) Mean deviation from Median annot exceed unity
Codes:

188  LfletTen sumnled 611 Gleurestm Fflwrs CumrmhgSng) ?

A) @ens syrefl —— @ GasmiL B) srrafl eflvssn —— e srmaif
J|6TEme

C) uglumie) —— ustafl eleurgemg D) efihuemerr Lmmid @eomun —— Lens
RUBGUOSSISN L e

Which one of the following is correctly matched?
A) Harmonic mean -- A measure of B) Mean deviation -- An average
skewness
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C) Analysis -- An arrangement of D) Sales and profit -- Positive correlation
data

YlstTeu(meusaTeummisi 6ThSGleumsarn) srflumy Qummhaising) ?

A) yerafl efleurid —— Gummerssflor B) & — M Fnbs
(O QUDTILMISSLILIL L Z6Teme

C) afss —— e Uetafleleursdleor, D) Q.D. -- e@p Fnbs LTaled gjeTemel.
S ooy Cuifin LIS ERS

SenL I’ L eG&umeL

Which one of the following is correctly matched?

A) Data -- A collection of objects B) Mode -- A well defined measure

C) Range -- Difference between the D) Q.D. -- A best measure of dispersion
largest and the smallest items of a

data

epearn) eTevorssaflear swl (b agmafl 135. Quuflw ersvoremflear gl 180. MM @\
6TE00TS (h &S @lemL UL L eflSglumetd 25. Sl tsvorsmfler LlLiLmsms)

A) 130 B) 125

C) 120 D) 100

The average of three numbers is 135. The largest number is 180 and the difference
of the other two is 25. The smallest number is.
A) 130 B) 125
C) 120 D) 100

HaLpGlauesor - LTausd epeuld HID  Gummst Olsmsmaug  Lstsflafeur au@ie
IeoLolientl @ser eLpeuld GlgifleSlingT@Ln

A) Q6URITS 2 (heuemLoLIL| B) 55 2 (meusmioliL]

C) au iy @enr Glaerfl D) u(mLoear

By frequency distribution we mean the classification of data according to
A) dissimilarities B) similarities

C) class intervals D) magnitude.

{ 5,5 5 5, 5 luarefllellenrssng nh6sustmrsmilsdlmhg GQuniu@n M.D.

L&IILmeTa)

A0 B)2
04 D)5
Valueof M.D.of { 5, 5, 5,5, 5 }from Median is
A)O B)2
O4 D)5

y =3 + 2x eT60Tmme0 X Lmmid y omlgsefler sp1 (Himeys Glgpeller LglliLimeorg)
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A) -1 B)0

C)0.5 D)1
y =3 + 2x, then the coefficient of correlation between x and y is

A) -1 B)0

C)0.5 D)1

{2, 7, 5, 10, 4} usreflefleursdneG ANemaumelemaimmled 6THhS jeTemesmiL
SEMSHSIL (gL ?

A) gl () symaf B) m(h0leuetor

O) s D) @lsng grmeif]

Which one of the following measures cannot be computed for {2, 7, 5, 10, 4}?

A) Mean B) Median

C) Mode D) Harmonic Mean

SLG6EWTL QUTSSILLISMmETS S66of]

2 mi&) (A): flapGleustr Cgsinisin LsTaflalarsams GausfliubSsiIn e aismrLL LD
smysoorid (R): yerefl eflunmisemer susmyuL Sl epeuld GeuaflliL(BS g

&0y @UNI.Herer @uluiigev sflumer ellenrsnius Csiimhols 0!

A) (A) g (R) @rein@id &l B)(A) wpgid (R) @rswnGib seum)

C) (A) &l opmiid (R) Soum) D) (A) soum Spsmmed (R) aif

Consider the following statements:

Assertion (A): Histogram is a graphical presentation of data

Reason (R): Statistical data can be represented in the form of graphs.
Now select your answer according to the coding scheme given below:
A) Both (A) and (R) are true B) Both (A) and (R) are false
O) (A) is true, but (R) is false D) (A) is false, but (R) is true.
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